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QUESTION 1

You are working on a project where you need to develop a rule to calculate the currency attribute "the person\\'s total
monthly school cost". This attribute is calculated as follows: (1) Add "the annual cost of the tuition" and "the annual cost
of lodging". (2) Subtract "the total annual scholarship amount" from the attributes previously summed. (3) Divide the
result by 12.

How should you achieve this?

A. the person\\'s total monthly school cost = Sum((the annual cost of the tuition + the annual cost of lodging),
Subtract(the total annual scholarship amount) /12

B. the person\\'s total monthly school cost = Sum(( the annual cost of the tuition, the annual cost of lodging)

Correct Answer: A

QUESTION 2

Your policy model has an entity of "the product”. You want to display all of the names for products that cost over a
certain price on a form. You added the product name field. Which set of Bl publisher features are required?

A. Conditional Region, Repeating Group
B. Conditional Region, Conditional Format
C. Repeating Group, Conditional Format
D. Conditional Region, Table Wizard

E. Repeating Group, Table Wizard
Correct Answer: C

Reference: https://www.oracle.com/technetwork/documentation/e54499-01-0pm1045-2489551.pdf (331)

QUESTION 3

You have deployed a policy model written in English and want to deploy it in Spanish, so that both the English and
Spanish versions are available to end users.

Which two steps are required?
A. Redeploy the interview but give it a new URL in the Deployment dialog box.
B. Write screens in Spanish.

C. Add a translation file.
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D. Redeploy the interview using the original URL.
E. Write rules in Spanish.
Correct Answer: CE

Reference: https://www.oracle.com/technetwork/documentation/e79061-01-opm1047-3252369.pdf (28)

QUESTION 4

You created a policy model and now want to deploy the current project to the Hub. You also want to restrict the
interview so that it cannot be utilized anonymously by end users.

Which two steps are required to accomplish these two goals?

A. Through Policy Modeling, click Deploy Snapshot and enter your credentials to deploy your project.

B. Through Policy Modeling, click Mapping Settings and configure which group should be able to access the interview.
C. Through the Hub, click Deploy New Project and navigate to your project to deploy your project.

D. Through the Hub, click Access Settings and configure which group should be able to access the interview.

Correct Answer: BD

QUESTION 5
the emplovee’s clockin time minutes = ExtractM inute{the employee’s actual clocKkin time)
the emplovee’s clock in time minutes remainder = Remaind er{the 1l vee's clock in time minutes, 15)

the adjusted employee’s clock in time @?\F
S

in time, - the employee’s clock in time remainder < 9

AddMinutes(the employee’s actual clock %@%(gé emplovee’s clock in time minutes
4
g-\wd
minutes remainder) 0) &
R

AddMinutes(the employee’s actua otherwise

in time,(15 —the employee
fime minutes remainder))

You have created a policy model which adjust employee shift start and end times, to align with an existing payroll
system.

If an employee clocked in at 09:22, what will the value of the adjusted employee\\'s clock in time be?
A. 09:15

B. 09:30
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C. 09:25
D. 09:20
E. Uncertain
F. 09:00
G. 10:00

Correct Answer: B

QUESTION 6

You have been asked to model the following:
"5. Cats to be registered

1)

The owner of a cat that has reached six months of age must ensure that the cat is registered with the local government
in whose district the cat is ordinarily kept. Penalty: a fine of $5000.

)

Subsection (1) does not apply if:

(@)

the cat has been kept by the person for less than 14 days; or

(b)

the person has been resident in the State for less than 14 days; or

(©)

the cat belongs to a class of cats prescribed as exempt from registration.”

The business has a requirement to obtain as much detail as possible from the user for other purposes.

Using the minimum number of Boolean attributes, which four input attributes are required to determine if a cat needs to
be registered under Clause 5?

A. the penalty amount

B. the person has been resident in the State for less than 14 days
C. the penalty is $5000

D. the date the person became a resident in the State

E. the cat\\'s date of birth

F. the cat has been kept by the person for less than 14 days
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G. the date the person started keeping the cat
H. the cat belongs to a class of cats prescribed as exempt from registration
I. the cat has reached six months of age

Correct Answer: CEGH

QUESTION 7

Which example of a single Boolean attribute text uses a conjunction (and) correctly?
A. the person is hot and the person is in the sun

B. the person\\'s favorite color combination is blue and yellow

C. the person drank the coffee and the person ate the cake

D. the person satisfied either eligibility criteria

E. the person satisfied both eligibility criteria

Correct Answer: C

QUESTION 8

You wrote this rule:

the scarf looks lovdy if
all
the searf contains hlne and

the scarf contains green

or | ®@

) Vscarf contains green and
Qgéz‘\?dlthe scarf does not contain bluz and

the scarf contains red
or

all
the scarfis red
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How many attributes does it contain?
A. Three

B. Ten

C. Two

D. Six E. Seven

F. Five

G. Nine

H. Eight

I. Four

Correct Answer: G

Reference: https://www.oracle.com/technetwork/apps-tech/policy-
automation/learnmore/policymodelingbestpracticeguide-1371173.pdf

QUESTION 9

You are instructed to create a very simple interview with a minimal number of elements.
Which three elements must be included in an interview?

A. at least one Submit button

B. at least one stage

C. at least one goal

D. at least one entity collect

E. at least one screen

F. at least one label

Correct Answer: ACE

QUESTION 10

You are creating a new interview for the Service Cloud Customer Portal, and you wish to load the current logged-in
contact\\'s first name, last name, and telephone number into your interview for use in individual fields on a form. After
setting up your data connection, how must you accomplish this in the minimum number of steps?

A. Set the interview to require the contact to log in to the Customer Portal but do not create any attributes, because any
data related to the logged-in user can always be loaded.

B. Create separate attributes for the first name, last name, and phone number. Set the interview to require the contact to
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log in to the Customer Portal, then set the mapped-in values for each attribute.

C. Create separate attributes for the first and last name, a number attribute for the phone number, and set the interview
to be accessible for contact center staff accounts.

D. Create separate attributes for the first and last name, a number attribute for the phone number, and set the interview
to not require the contact to log in.

E. Create separate attributes for the first name, last name, and phone number. Set the interview to require the contact to
log in to the Customer Portal, then set the mapped-out values for each attribute.

Correct Answer: B

QUESTION 11

You wrote rules represented conceptually by the following rule diagram:

You build and run your entire set of rules in the Debugger.

Which two methods can you use to test only the subset of five rules represented by the five black lines connecting the
attributes shown as orange circles?

A. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost green square attribute.

B. Investigate the uppermost orange circle attribute via the data tab and then set values for the lowermost orange circle
attributes via the decision tab.

C. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute.

D. Investigate the uppermost green square attribute via the data tab and then set values for the lowermost orange circle
attributes in the decision tab.
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E. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute.

F. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost green square attribute.

G. Investigate the uppermost orange circle attribute via the data tab and then set values for the base shown in the
decision tab.

Correct Answer: BC

QUESTION 12

You are about to begin a Policy Automation project.

Which two aspects of this project are reasons to use Collaboration?

A. The project will require sharing rules across multiple policy models.

B. Communications with the client and policy experts will be frequent.

C. The project will involve highly complex source policy that is sometimes subject to interpretation.
D. More than one policy modeler will be working simultaneously on the project.

E. The policy model will handle large amounts of data after it is deployed into production.

Correct Answer: AE
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